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Kupcarnos M.H. Pemeonuk. Teopernueckada mexaHuka c. 272.

Bapuant 1

a b c
\ | \ a=35cm, b=45 cu,
ZTo 1 T c=40 cm, R = 45 cm,
Q m1 = 45 kr, ms = 10 Kr,
A a = 0.07 pag, L = 25 cwMm,
2z M,=1.1Hwm t=4c.
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Bapuant 2 b c

a=45cMm, b="T5 cmM,
¢ =60 cMm, R =55 cm,
m1 = 90 kr, ms = 14 KT,
a = 0.17 pag, L = 35 cMm,

MB zZ M,=37Hwmt=5c.
-
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Bapuant 3 b c
\ \ \ a =40 cm, b = 50 o,
T2 g T c =45 cMm, R =50 cm,
<« m1 = 50 kr, mo = 10 &,
a = 0.08 pag, L = 30 cMm,
A B o M —i6Hwt—dc
« 7. 7.
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n
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a=35cM, b =065 cmM,
c=>50 cMm, R =45 cm,
m1 = 80 kr, me = 10 Kr,
a =0.14 pag, L = 25 cMm,
M, =29 Hm, t =4 c.
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Bapuant 5 b c
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a =45 cMm, b =55 cmM,

¢ =50 cMm, R =55 cm,
m1 = 60 Kr, ma2 = 6 Kr,
a = 0.09 pag, L =35 cMm,

Z M,=4.6 Hwm t=3c.




Bapuant 6

a = 35 cM, b =65 cwm,
c =50 cM, R =40 cm,
mi1 = 25 Kr, ma = 6 KT,
a = 0.06 pan, L =25 cwm,
M, =09 Hwm, t=3c.
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Bapuant 7
T2
Y2 1

a =155 cMm, b =65 cmM,
¢ =60 cMm, R =60 cm,
m1 = 70 Kr, ms = 18 KT,
a = 0.18 pang, L = 45 cMm,
M, =2.7Hwm, t=6c.

Bapuant 8

a=45cMm, b="T5 cwm,
¢ =60 cMm, R =55 cm,
m1 = 50 Kr, ms = 14 KT,
a = 0.09 pag, L = 35 cMm,
M, =13Hwm t=5c.

Bapuant 9

T2

Y2 "l
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a=35cM, b=45 cmM,
c =40 cm, R =45 cwm,
mi1 = 45 Kr, ma = 6 KT,
a = 0.06 pag, L =25 cMm,
M, =18 Hm, t =3 c.
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a =30 cMm, b =40 cmM,
c=35cM, R =40 cm,
m1 = 50 Kr, mg = 14 Kr,
a = 0.09 pag, L =20 cMm,
M, =0.7Hwm, t=5c.

Bapuant 11

a=35cM, b=>55cM,
c =45 cMm, R =45 cwm,
m1 = 55 KI, ma = 6 Kr,
a = 0.08 pag, L =25 cMm,
M, =2.6 Hm, t =3 c.




Bapuant 12 b

\ a=25cm, b=45 cu,
o c=35cM, R=35cwm,
m1 = 60 kr, mg = 18 Kr,
a =0.12 pag, L =15 cMm,
2z M,=0.5Hwv t=06c.

\ a=25cm, b=45 cu,
To c=35cMm, R=35cwm,
m1 = 85 Kr, mg = 18 Kr,
a =0.17 pag, L =15 cMm,
z_ zZ M,=0.9HwMm t=6c.

Bapuant 14 b

‘ ‘ ‘ a =50 cMm, b = 60 cwMm,
zo e z c =55 cM, R =55 cwM,
m1 = 65 Kr, mg = 18 Kr,
a =0.17 pag, L =40 cm,

A B

(xC 2z zZ M,=2Hwm t=06c.
7. 7.
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Bapuant 15 b

‘ ‘ ‘ a =40 cMm, b =70 cwMm,
z ro €=055cM, R=45cm,
mi1 = 25 KI, ms = 14 Kr,
a = 0.08 pag, L =30 cMm,

A B
aC 4 Z M.=05HMt=5c.
n
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Bapuant 16 b c

‘ ‘ ‘ a =40 cMm, b =50 cmM,
- o1 T c =45 cM, R =50 cwm,
my = 65 Kr, ma = 6 Kr,
a = 0.1 pan, L =30 cwm,

A
'-’g Z M,=43Hwm t=3c.
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Bapuant 17 b c

‘ a =45 cMm, b = 65 cmM,
o c=55cM, R =55 cm,
m1 = 75 KT, ma = 6 KT,
a =0.12 pag, L = 35 cMm,
2z z M,—=06.8 Hv,t =3 c.




Bapuant 18

b c
| | \ a =45 cm, b = 55 o,
T2 o T c =50 cMm, R =50 cm,
= my = 70 Kr, ma = 6 Kr,
a = 0.15 pang, L = 35 cwm,
ac A zg zZ M,=63Hwmt=3c.
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Bapuant 19 , b c
‘ ‘ ‘ a=>50cMm, b="T0 cmM,
T o1 To ¢ =60 cMm, R =55 cm,
o m1 = 55 Kr, ma = 18 Kr,
a = 0.15 pang, L = 40 cm,
£ aC -’2 Z M,=1.6Hwm t=6c.
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Bapuant 20, b c
‘ ‘ ‘ a = 30 cMm, b =40 cwm,
To o1 T c=35cM, R =35 cwm,
= m1 = 40 Kr, ms = 6 KT,
a = 0.09 pag, L =20 cMm,
aC Vi -’g zZ M,=13Hwm t=3c.
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Bapuant 21, b B
‘ a =40 cMm, b =70 cwMm,
ro €=55cM, R=50cm,
mi = 65 Kr, mg = 18 Kr,
B a =0.13 pag, L =30 cMm,
V7 zZ M,=12Hwm t=6c.
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Y2
Bapuant 22, b c
‘ ‘ ‘ a =35 cMm, b = 65 cwm,
T o1 ro € =050 cM, R =40 cm,
= m1 = 25 Kr, mg = 10 Kr,
a = 0.07 pag, L =25 cMm,
% aC /g zZ M,=0.5Hwmt=4c.
n
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Bapuant 23, b c

Y2

a=45cMm, b="T5 cwm,
c =060 cMm, R =55 cm,
m1 = 65 Kr, ms = 10 Kr,
a =0.11 pag, L = 35 cMm,

zZ M,=31Hwm t=4c.




Bapuant 24, b

\ a =45 cM, b = 65 cm,

T i To c =55 cMm, R =50 cwMm,
= my = 65 Kr, ma = 6 Kr,
=0.14 pan, L =35 cm
A (e ) )
(xc ZE zZ M,=56Hwmt=3c.
7. 7.
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Bapunanr 25, b
‘ ‘ ‘ a =155 cMm, b =65 cmM,
To o1 T ¢ =60 cMm, R =60 cm,

mi1 = 25 KI, ms = 18 Kr,

a = 0.09 pag, L =45 cMm,

(xC A4 ZE zZ M,=0.7Hwmt=6c.
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Bapuant 26, b c

‘ ‘ ‘ a =25 cMm, b =45 cwm,
x T c=35cMm, R =30 cm,
m1 = 60 Kr, ms = 14 KT,
a =0.15 pag, L =15 cMm,

A
(xC Zg zZ M,=0.7Hwmt=5c.
n
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Bapuant 27, b c

‘ ‘ ‘ a =35 cMm, b =45 cwm,
T T c=40cMm, R =45 cM,
m1 = 75 KI, ms = 14 KT,
a =0.14 pag, L = 25 cMm,

A
'-//g zZ M,=17Hwm t=5c.
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‘ a=35cM, b =065 cmM,

xo ¢=50cM, R =45 cMm,
m1 = 85 KI, mz = 6 KT,
a =0.14 pag, L = 25 cMm,

& zZ M,=57Hwmt=3c.

Y2

‘ a=35cM, b=>55cM,
o c=45cMm, R =40 o,
m1 = 25 KI, mg = 14 Kr,
B a = 0.08 pag, L =25 cMm,
a zz __zZ M, =04Hwm t=5c.




Bapuant 30, b

\ | \ a =45 cm, b = 55 o,
T2 o T c =50 cMm, R =55 cwm,

< m1 = 50 kr, mo = 10 &,
a = 0.08 pag, L = 35 cwMm,

72 zZ M,=2Hwm t=4c.
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0.212
0.241
0.224
0.332
0.469
0.379
0.166
0.140
0.365
0.154
0.437
0.123
0.160
0.157
0.132
0.496
0.563
0.664
0.143
0.483
0.123
0.190
0.280
0.632
0.086
0.232
0.201
0.635
0.139
0.228

0.849
1.207
0.895
1.330
1.407
1.137
0.997
0.701
1.095
0.768
1.312
0.735
0.962
0.944
0.659
1.489
1.689
1.993
0.857
1.450
0.739
0.762
1.122
1.896
0.516
1.161
1.004
1.904
0.696
0.910

0.000
-4.712
0.000
0.000
3.182
4.839
0.000
-7.656
2.941
-4.375
2.459
0.000
0.000
0.000
-10.769
2.535
2.593
2.763
0.000
2.609
0.000
0.000
0.000
2.958
0.000
-2.838
-3.933
1.648
-8.974
0.000

4.545
0.000
5.000
2.778
0.000
0.000
-9.205
0.000
0.000
0.000
0.000
-3.462
-2.621
-8.675
0.000
0.000
0.000
0.000
-9.863
0.000
-6.506
7.143
4.667
0.000
-18.837
0.000
0.000
0.000
0.000
5.833

-51.364
63.173
-56.667
47.778
-59.091
57.258
-76.250
74.531
-49.118
-46.563
40.410
35.385
32.864
-70.843
84.872
-53.380
49.815
-58.553
67.260
-43.913
67.108
67.857
63.000
50.493
-88.023
33.514
-50.506
42.582
54.744
-62.500

-1.305
-2.164
-1.569
1.418
-10.851
0.892
2.159
-1.063
-4.986
5.252
-0.577
0.224
0.535
2.044
-0.953
-9.968
-0.820

-30.226

0.088
-8.229
-0.070
0.197
1.057
-3.756
1.999
0.683
11.916
4.903
0.536
-1.888

-5.493
0.359
-7.335
2.021
2.571
-0.261
24.480
0.304
1.518
-1.368
0.147
0.461
0.766
19.489
0.289
2.232
0.162
5.056
1.813
1.892
-1.533
0.739
2.075
0.660
6.490
-0.118
-2.375
-0.858
-0.154
-8.840

0.774
9.303
0.898
-2.249
6.695
-2.830
-0.813
3.469
3.188

-3.602
-2.006
0.107

-0.102
-0.912
2.779

5.978

-5.170
21.888
0.941

5.707
0.735
-0.674
-2.039
-3.794
-1.303
2.147
-8.390

-10.340

1.158
1.092

3.690
-1.542
4.932
-6.440
-1.586
0.830

-16.425

-0.990
-0.970
0.939
0.510
0.999
1.735

-13.073

-0.843
-1.338
1.020
-3.661
3.478
-1.312
4.481
-2.190
-6.477
0.667
-4.337
-0.370
1.672
1.810
-0.333
5.939




